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T 4397 ;
HETITRET 1453971 %1 aga FIae1 & Tigq 31k 37T & & 91T By :

(i) 3T IH-Y7 4 30 97 & | @Yt F97 AT & |
(ii) I8 Y¥7-97 giel @Sl 7 [qwif5q 8 - @us &, @&, M, 909 & /
(iii) WUZ & H 97 &I 1 T 12 7% Tglascdid (MCQ) FHR & Th-Uh 37 & o7 & |
(iv) @WUE @ 4 97 &7 13 & 18 7% &Tg-3I70F (SA) FHR & F1-g1 3Hl & 797 8 |
e J97 &1 IR 50 Y531 & 37fere 787 817 Fiisy |
(v) TUE T ¥9T &7 19 T 28 % 5-3709 (LA) THR & TR-TR 3P & J97 & |
9% 97 BT I 100 Js5] @ 371 787 8141 F1e0 |
(vi) TUS T T Jo7 G&IT 24 T 26 TF TR, Higd T THITA-STIRT T97 & |
(vii) TUE F 7 Y97 G&I7 27 T 30 TF 5379 (LA) PR & Dg-Bg bl & Y97 5 |
F % J97 T IR 170 F1551 T 37749 781 817 =1eT |
(viii) F97-97 8 HI3 G739 781 8 | JaiT Fo Fo41 7§ are [@dHy F JraenT a7
T E | 57 I § & FT Uk &1 JIT HT I [o7ET W |
(ix) 5G9& HARh, Y% GV Tq Y] & &I, &1 a9TF 5, [4e9 [cT 7T & |
WQUE &
o7 &I 1 & 12 T TFlasedid (MCQ) J#R & Uah-Udh 7% & Jo7 & |/ 12X 1=12
1. Tmfafad #i HRATIER Safedd Sl
(i)  TTeh hl TATYAT
(i) U = 6T T
(iii) ST 6T T
(iv) = ¥4 $ 1 e
gt foeheq 9T :
(a) (i), (1), (iv), (iii)
(b)  (iid), (iv), (1), (i1)
(c) (i), Av), (1), (iii)
(d) @1, v), (iid), (1)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(i)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

In Section A — Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B - Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying
1 mark each. 12x1=12
1. Arrange the following in chronological order :

59/3/3

(1) Establishment of SAARC
(ii))  Establishment of European Union
(iii) Establishment of ASEAN
(iv)  Privatisation of agriculture in China
Choose the correct option :
(a) (i), (1), (iv), (iii)
(b)  (iid), (iv), (1), (ii)
(c) (i1), (iv), (1), (ii1)
(d) @), Gv), (iid), (1)
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frafafea 0 @ w9 goHifds ol SO & gge g & femn T8 o,
RTEehT e STAYRIY AR 5 1975 H TR o7 ?

(a) YR S99

(b)  WRA HEE 9E (M)
(¢) YR Al e

(d) FHTSETE 9t

o

1989 % =g, fmfcifiad W @ -8 w TSI we afed g8 ?
(a)  &Bf TsHifa =1 3=

(b) TGS I TEHRI o I hT TRH

(c) I Ul 1 TYE S T

(d) S ToHifa <6l S Ragges T8

S T TsAl B HIUH G ATITTDTA b I1G 1977 T AW FAE S+ H T
T ?

(a) T U AN THY HeHR

(b)  TOIE 3R HHAleh

(c) IS 3TN 378H

(d) Hlch IR AT

feafoiaa 8 9 - famsamd s s i fifa s 8§ ue St 8 2
()  aFl Tt e F |

(i) SFI | TSl T R 3TEA R |

(iii) QI | 7eqe YU WA B |

(iv) M ol 97 ATEfed Hid = Ik 3 |

gl faehed T -
(a)  ohad (ii) 3 (iv) (b)  ohad (ii) 3 (iii)
(¢)  had (i) 3 (iv) (d) whad (i) 3 (iid)
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2. Which among the following political parties was not a part of the
Jayaprakash Narayan (JP) led peoples’ march to Parliament in 1975 ?

(a)  Bharatiya Jana Sangh

(b) Communist Party of India (IM)
(c) Bharatiya Lok Dal

(d)  Socialist Party

3. After 1989, which one of the following political development happened ?
(a)  End of regional politics
(b)  Era of coalition governments started
(c) Dominance of Congress Party continued

(d) Communal politics lost ground

4, In which pair of states did the Congress Party manage to win the General
Election of 1977 after Emergency ?

(a) Uttar Pradesh and Jammu and Kashmir
(b)  Gujarat and Karnataka
(¢) Orissa and Assam

(d) Karnataka and Tamil Nadu

5. Which of the following are the common features for both, the Planning
Commission and NITI Aayog ?

(1) Both are non-constitutional bodies.

(i1))  Both have significant roles of states.

(iii) Both have the Prime Minister as chairperson.

(iv)  Both have the power to allocate funds.

Choose the correct options :

(a) (i) and (iv) only (b)  (ii) and (iii) only

(c) (i) and (iv) only (d) (i) and (iii) only
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faafafga & 9 - e e 3 yRy 9 yrde 99 9 wive g1 & ooy
ToraT o 2

(a) wra (b) BTG

¢ HE d) e

39 oW Fl UgEH T, T Fdgrie Toad 8 3R I W 8 JHH |
BATR |

(a) 9T (b) T

(c) TR (d) e

feRgd @ hH-H1 Uk A fsiod &1 32 Fg7 & ?

(a) T9 T TSl o Sid THM 3T oy faafa e
(b) ECH TSHl h! ATaies Afael § geaaq T e

(c) T AU =REETd R Fue fova &1 o e
(d) wfd 9 GLEam &l qerEr ¢

T.sie. Thall 3 ffiiiaa 5 & fopd TS § T ATgia ol Aqcd fohaT o ?

(a) Tafem

(b) @RI
¢ T
(d) FNTAvE

AT 3T o Hfiiad § & ford Tk &9 § 9001 89 o @ & 2
(a) RIS I

(b)  SHEEA =
(c)  Torcw Hifa
(d)  3TTdehaTg S AfelY
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6. Which one of the following Princely States initially opposed joining the

Indian Union ?
(a) Baroda (b) Hyderabad
(c) Mysore (d)  Gwalior

7. Identify the country which is landlocked and has a constitutional

monarchy.
(a) Nepal (b)  Afghanistan
(c) Myanmar (d) Bhutan

8. Which one of the following statements is not an objective of BRICS ?
(a)  To distribute equal economic benefits among its member-states
(b)  Non-interference in the internal policies of member-states
(c) To establish a more equitable and fair world

(d) To promote peace and security

9. A.Z. Phizo led a movement in which one of the following States ?
(a)  Sikkim
(b)  Manipur
(c) Mizoram

(d) Nagaland

10. In which one of the following fields are India and Israel cooperating with
each other ?

(a)  Elimination of poverty
(b)  Population control

(c) Foreign policy

(d)  Counter terrorism

59/3/3 Page 7 of 23 P.T.O.



11.

12.

59/3/3

A= a1 e fou e & — foH wh il sfiehud (A) 991 gE %l B (R) R
JAferd foram TR B | 9 HY HI &F ¥ Ufgr IR A= feu mu foemew
(a), (b), (c) 3 () ¥ | IR % &9 | Hal fdehed FHT |

fUFeT (A) :  UNA 4 TEWIREAT W A ] e o faw S fe,
dAfepa T oft @ 3 W.H.A. & rffeaaeeia fomar =
oy e o A.A . A, W sEaeR® = U 3hR T |

PRI (R) : Y Gl foRy ®9 8 T el W AR g off SR
LAY STfh-H9e 91 WRRAT o TEhIIUHhR ohl 9F AT of |

(a)  SANTHAA (A) 3 HRO (R) A1 T& & 3N R0 (R), 3hheq (A)
g ST LAl = |

(b)  AfYHA (A) 3 HRU (R) THAT Tl §, Tg HRU (R), AR (A) i
&l AT FgT Rl 7 |

(c) AR (A) HEl B, =g SR (R) TAd 7 |
(d) AR (A) TAd 7, T BRI (R) HaEl 3 |

= Q1w fou T B — f9H Tk I SAfeReE (A) 9 g R0 (R) GN
JAferd foRam TRT B8 | 31 AT &l &9H ¥ ufew R 9 fer wu fosmreut
(a), (b), (c) 3 () ¥ & IR % &4 H Ha! fdehed FHT |

7B (A) :  <feror uitrn & 19 o fafaydar =1 gdies &, e oft gfamor wfsen
& fafie 2on ° woh It ToHifaes goreft @ |

R (R) : oy UL IR EHHIeAT % dTase, 9 S TheEm gEn o
ST Alehdd shl STTHRITST H TEWT 2§ |

(a)  SANTHA (A) 3 FRO (R) A1 T& & 3N R0 (R), 30haq (A)
g ST KAl = |

(b)  SAfTHA (A) 3 HRU (R) TAT Tl §, Trg HRU (R), AR (A) i
g U FgT Rl & |

(c)  AUHe (A) WEl B, g R (R) Teid & |
d) 3TfrReE (A) Tod ], T R (R) & 7 |

Page 8 of 23



11. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : India pleaded with the superpowers for comprehensive
nuclear disarmament, yet India opposed the indefinite
extension of the NPT and also refused to sign the CTBT.

Reason (R): These treaties were selectively applicable to the
non-nuclear powers and legitimised the monopoly of the
five nuclear weapon powers.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

12. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : South Asia stands for diversity in every sense, even then
the various countries in South Asia have the same kind of
political system.

Reason (R): Despite many problems and limitations, all South Asian
countries share the aspiration for democracy.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

59/3/3 Page 9 of 23 P.T.O.



13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.
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Qs @

Td H A fUse o o UoHifdes 3IcUM o fehedl @ HRoN &1 gy
W| 2x1=2

WA i forger fifd < T gk o &9 § [e-fruean i Aifd &1 e Hifve | 2

qqd SRR T % Reedl = ot % A fafew | 4%:2

1969 H %@ Il o NU=TIER faeed & *I3 2 I ITTR IS | 2x1=2

dHCITA I ¢ UfduTied TehlcH HIFAIE o foheal &l THgdl bl ISR

T | 2x1=2

Hifq s & 5= g g *™t w1 3g@ HIN | 2x1=2
Wug T

&1 <hl qRUNER 3R AR IR o &= T T HIMT | 2x2=4

2014 % FAEI o ¢ YA TeHid § AT fhdl IR sgamai &1 auH

W | 4x1=4
fUsm 4 ATl sTeied & fohal 2@l ShIun sl ISR hifve | 2x2=4
2fequr Uf¥En o SIS <M 3T WA o IREINeh Grai &1 fagayur i | 4

Toreft 231 h1 STfeaEeT WX SveieRtul o fehral & THTEl hl ISR HIFVT | 2x2=4
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.
59/3/3

SECTION B

Analyse any two reasons for the political rise of Other Backward Classes
in India. 2x1=2

Evaluate the policy of Non-alignment as a component of India’s foreign

policy. 2

Name any four Republics of erstwhile USSR. 4dx—=2

Highlight any two reasons for the formal split in the Congress Party
in 1969. 2x1=2

Highlight any two principles of Integral Humanism advocated by Deen
Dayal Upadhyaya. 2x1=2

State any two main functions of the NITI Aayog. 2x1=2

SECTION C

Differentiate between the traditional and non-traditional notions of

security. 2x2=4
Describe any four changes in Indian politics after the 2014 elections. 4x1=4
Highlight any two reasons of the separatist movement in Mizoram. 2x2=4

Analyse the mutual relations between the smaller countries of South
Asia and India. 4

Highlight any two effects of globalisation on the economy of a country. 2x2=4
Page 11 of 23 P.T.O.



Qs v

24, = fqu 7T T 1 SAEYES JERA HIT TR T T T o IW G | 4xI=4

(i) SR T TC FA 1 oY fohd T | 7 ?

(a) TN (b) IOdE T=
(c) Hmh (@) forerd

i) Tozm mn rda ffciiea & 9 fopaeh SR A B 2
(a) TS STHT

(b) AR TSI Hid T STHBeAT
(¢c) TcHdl o foTu Ueh Higa™ o9 | STEhad
(d)  YITSLOT ERETOT H STEBAdT

(iii) e ¥ Te@mn = faari 1 9 1 gt B ?
(a) S & HeHF <N

(b) TS hl Tehd

(c) TS <hl HHeAdT

(d) T3 <hl I
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SECTION D

24. Study the cartoon given below carefully and answer the questions that

follow. 4x1=4
(1) The above cartoon is related to which organistation ?

(a) ASEAN (b)  European Union

(c) SAARC (d)  BRICS

(ii))  The above cartoon is about which one of the following ?
(a) Global warming
(b)  Failure to make a trade agreement
(¢) Failure to draft a common constitution

(d) Failure to protect the environment

(iii) What does the circle of stars shown in the cartoon represent ?
(a) Member-states of the organisation
(b)  Unity of the organisation
(¢)  Swuccess of the organisation

(d) Composition of the organisation

59/3/3 Page 13 of 23 P.T.O.



(iv) I § Hatad " shi mon forg ad g3 off ?
(a) 1967 (b) 1985
(© 1992 (d) 2006

Fie:  HEfiRad g97 F97 glEEnET ghemdal & g Je7 G 24 F W W

g 4x1=4

(i) ™I ST o dgd fohE Tad hl TAT9AT <hl 175 oft 2

(a) IR 9itwg
(b)  JUE ATfIeh TEANT HTaH
(c) {ﬁtﬂ'{{ g

d I e agem

(i)  TfeeEe |fer i T 1 foba g g 3 oy fopamm e 2
(a) AT, TwTT (b) fore, v

0

(¢) S|, e @) dis, fhacts

(iii) =H A AU AdeET ¥ gUR @H o o fopm a9 # ‘got g <t Hfifa

STYETS ?
(a) 1975 (b) 1977
(¢ 1978 (d) 1979

(iv) ohH-H 9IS 1 g AMEAH o GEATIh 96 o ?
(@)  seMiEn, gafsen, fefoada, g ot ares
(b) FSHRMEI, Haifvwn, fhiadia, amges o g3
(c)  SSHfvE, Thiadid, R, amsds 3R g3
(d) sSWfEmE, Foifwn, fhfordia, fouaam iR orsele
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(iv) In which year was the organisation related to the cartoon

established ?
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24 : 4x1=4

(1) Which organisation was established under the Marshall Plan ?
(a) Council of Europe
(b)  Organisation for European Economic Cooperation
(c) European Community

(d) European Economic Community

(ii1)  Which two countries have resisted to adopt Maastricht Treaty ?
(a) Bulgaria, Romania (b) Britain, France

(¢c) Denmark, Sweden (d) Poland, Finland

(iii)) China adopted the ‘open door’ policy to improve its economy in

which year ?
(a) 1975 (b) 1977
(¢c) 1978 (d) 1979

(iv)  Which set of five countries were the founders of ASEAN ?
(a) Indonesia, Malaysia, Philippines, Singapore and Thailand
(b) Indonesia, Malaysia, Philippines, Thailand and Brunei
(¢) Indonesia, Philippines, Singapore, Thailand and Brunei

(d) Indonesia, Malaysia, Philippines, Vietnam and Thailand
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25.

59/3/3

o (el e

FAfIRad  STaawEr o1 eaHYas AL iy 3 fou T gei & IW

%’I'%'Q : 4dx1=4

YA & Y| T Tt 3 Ui Tet a9 A H Heweyet it i | 9y faew
= ft o 3t 384 urRd i faew fifd f @ R fraraed W TRu v
BreT | 3eh! T Hifd & iR 98 Ie99 9 — ST Tus | 9T AT Sl F=C
[T, & TEUeAr sl 99T TEAT, 3T a9 War § e o™ er | 98
S 31 ol Te-Tuemar i Aifq 19 g S 9red 9 | 34 T qw o
$S TsHITah g AR g T8 o & et a1 o1 o6 wRa &1 smdehl @
Y SATET ASIcieh] SQHI =MET Fifeh 39 WH <hl Tfdsal dlehdd o GHECT o
w9 H oft |

() v fagw Hifa w1 g fmfa fefafea & @ =6 o 2
(a) .3, ISR (b)  HgTeHT TIeft
() AT I8% (d) TER 9

i) Tr=fafaa 8 @ +=-a1 ara 6 fogw Hifa =1 3w 3 2
(a) 379 f&ai hl & HET
(b) TR ST TRET
(c)  OTU WL WIS hl Hafe[d AT

(d)  HETIRE S941

(iii)  Te-Frusrar &1 31 7 |
(a)  deEdl (b)  IFEqE
()  gUadETg d) ot =ife e @ & e

(iv) TorepT AT o1 T WRA 1 STHUGRI o <qcd aldl ©@H o d19 3A(4h

fisrera g =nfgu 2
(a) R SHEH (b) TEad grel
(¢ .3, IR d) 3w adf
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Read the following passage carefully and answer the questions that
follow : 4x1=4

The first Prime Minister of India played a crucial role in setting the

national agenda. He was foreign minister also and exercised profound

influence in the formulation and implementation of India’s foreign

policy. The three major objectives of his foreign policy were to preserve

the hard-earned sovereignty, protect territorial integrity and promote

rapid economic development. He wished to achieve these objectives

through the strategy of non-alignment. There were parties and groups in
the country that believed that India should be more friendly with the bloc
led by the US because that bloc claimed to be pro-democracy.

(1)

(ii)

(iii)

(iv)

Who was the main architect of India’s foreign policy ?
(a) B.R. Ambedkar (b) Mahatma Gandhi

(¢) Jawaharlal Nehru (d) Sardar Patel

Which one of the following is an objective of India’s foreign
policy ?

(a) To pursue its national interest

(b) To preserve democracy

(¢) To strengthen its Armed forces

(d) To become a superpower

Non-alignment means
(a) toremain neutral (b) non-interference

(¢) to remain isolated (d) not joining any power bloc

Who believed that India should be more friendly with the bloc led
by the US ?

(a) Bharatiya Jana Sangh (b) Swatantra Party
(c) B.R. Ambedkar (d) All of the above
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26. WRA % U T TSI W@I-AHRE (758 19 W) § IR T 61 @), B), ©
AT (D) h GRI JAlehd fohal 7T & | 1= < T8 THHRI oh IR T 37 TSAT hl
UEAH HINT 3R 9 IT-gfedent B gk TE A, TAN HI TS AR
UG qdT HEreE § foan mn gefud sier, = d T diferet % &9 #

i%|i\@|q : 4x1=4

T hl T8 THEGR | T H

. . TS hT AH
1 HH-gE T 38R

1)

(i1)

(iii)

(iv)

() 98 TS T8 wadadar & 999 9@’ kel San o |

(i)  TEqfaa foee @ 3gR W ffta T |

(Gii) 98 TS T 1947 ° fawifora fepam mam o |

(iv) 1952 # Tfdd 98l TS |
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26.
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In the given political outline map of India (on page 21), four States have
been marked as @, , © and @ Identify these States on the basis of
the information given below and write their correct names in your
answer-book along with the respective serial number of the information
used and the concerned alphabets given in the map as per the following

format : 4x1=4

Serial number of the | Concerned alphabet Name of the
information used in the map State

@)

(ii)

(iii)

(iv)

(1) The State which was called ‘Madras’ at the time of Independence.

(ii)  The State formed on the basis of imbalanced development.

(iii) The State which was partitioned in 1947.

(iv)  The first State created in 1952.

Page 20 of 23



For question no. 26

[ Ol AAZARA NOA T

59/3/3 Page 21 of 23 P.T.O.



Fig:  [AEliad Jv7 FacT IEETET GheTdEt & [0 Jv7 & 26 % T W

27.

28.

29.

30.

59/3/3

(1)
(ii)
(iii)
(iv)

()

Ela?é%

4x1=4
‘M’ TST T AU b HIA-8 g TSI F97C 7T o 2
94 H Hg™ HEelC S dTel TS 1 FAHM TH &= 8 2
TGS fohE T ¥ I HL SR T B 2
3G TS 1 9 Taiiay {58 A9 Ye1 & hie L S9=1 T 8 |
Qs &
Gk TogH et qNug o A4 e&l oh [T JEaTfad fohegl 9 HT9GUel
1 wie HifAT | 4><zé=6

arera
SieAd §Y HeH H HEth USgHH i 3H(eeh TN M & o1y 2005 |
e <Eli % Yg@l g gIe U fRedl WR edi o1 favemur

iU | 4><Zé=6

fYehTeT qd HifoRd VRIS I TNl IR @all sl AR IHE@ HH a1

fehmgl < ShTTeh] A1 UM HITITT | 3x2=6
HAAAT

frETsd Me<d I Higdd T9 ¥ IR A o [0 ASeX H a1l his

d9 RO Tase hifSu | 3x2=6

“qra #1952 1 W g fova § Arehad < 3faeE H TH HiA

TeeR o7 |” SF o 9 H HI5 A doh oIty | 3x2=6
HAAAT

Tt v’ @ = Ifm 7 2 1970 ® 3feu it 9 38 7wy w6 W =

IR feam 2 foredi St woit =1 fagetvor Hifs | 2+4=6

dfgaer TSHIfG s fohral IR WE@QUl qiauoid fo=dreti &l 3SR

W | 4><Zé=6
HAAAT

dvefieror ¥ fopedl =T amfdien witom 1 IR A | 4x1 =6
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Note :

27.

28.

29.

30.

59/3/3

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4x1=4

(1)

(i1)

(iii)

(iv)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Which two States were created by dividing ‘Bombay’ State ?
What is the present name of former ‘Madras’ State ?
Uttarakhand was carved out of which State ?

Name the State which was carved out of Madhya Pradesh.

SECTION E
Examine any four criteria proposed for new members of the
UN Security Council. 4x1 é =6
OR

Analyse any four steps suggested by the heads of the member

states in 2005 to make the United Nations more relevant in the
1

changing context. 4x1 3 =6

Describe any three factors that make most of the former Soviet

Republics prone to conflicts and threats. 3x2=6
OR

Explain any three reasons that forced Mikhail Gorbachev to

initiate reforms in the Soviet Union. 3x2=6

“The general elections of 1952 in India were a landmark in the

history of democracy in the world.” Support the statement with

any three arguments. 3x2=6
OR

What is meant by ‘Privy Purse’ ? Why did Indira Gandhi insist on

abolishing it in 1970 ? Analyse any two reasons. 2+4=6

Highlight any four environmental concerns that have become

important in global politics. 4x1 é =6
OR

Highlight any four economic consequences of globalisation. 4x1 é =6
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